MULTIPLICATION Laly sl

1x2=
6X3=
6X2=
1x9=
12X 4 =
3X5=
Ox9-=
3x7=
3x3=
4X9=
1x0=
1x12 =
6X6=
8X7=
Px2=

12 x1=
M X1=
1x2=

10x3 =
7 X4 =
12 x4 =
7X6=
1Xx5=

10x8 =
ODX9O=
1x1=

3X4=
8XxX6=
?x12 =
8Xx8=

DX6=
1x1=

4x12 =
6x3=
9Xx8=
10 x5 =
9x6=
/X7 =
12X 5 =
11x8=

10 x10 =

12x 2=
5X9=
8x9-=

Mx12 =

/15




MULTIPLICATION Laly sl

4x2-=
4Xx5-=
6X3=
/X7 =
12X 4 =
12X 3=
10 x 8 =
3x2=
8X8=
4x7=
1x10 =
4x11=
OX6=
8Xx6=
Qx12 =

10 x4 =
10x8 =
1Mx2=
1x12 =
7X6=
2X4-=
4X09-=
MXxS=
4x0-=
2X8=
M X1=
6X4=
8X9=
Px2=
3XxX9=

12 x 6 =

M x12=

4x2-=
3X9=
9x0=
10 x5 =
9x6=
4X3=
2X9=
1x12 =
12X 9 =
6X9=
SX8=
8Xx7=
10x6=




